
 

 
 

 
 

  פתרון הבחינה באנגלית קיץ תש"ף,  2020

'  ז שאלון       Module G   

21658סמל שאלון:   

 מוגש על ידי צוות המורים של

High-Q Global   

 הערות:

 . תשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון.  1

 . תיתכנה תשובות נוספות, שאינן מוזכרות כאן, לחלק מהשאלות.  2

 . חלק מהתשובות הן בנקודות בלבד, על הנבחן לפרט את הדברים. 3

 

PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (60 points) 

ROBOTS IN HEALTHCARE – version A 
1. ii) Why the nurses were wrong about Moxi. 

2. iii) What makes Moxi useful. 

3. [Because the robot] has human-like features 

4. iv) Learning to use it can be a challenge to surgeons. 

5. [In lines 20-21, Dr. Stanton describes ways in which] the da Vinci robot helps 

doctors / her and her colleagues. 

6. [We can understand why] Japan leads in (the innovation of) building human-

like robots for people who need care at home. 

7. [in lines 27-30, Wallace gives several reasons why healthcare robots] 

should not be used. 

8. ii) will be used more frequently 

 
ROBOTS IN HEALTHCARE – version B 

1. ii) Why the nurses were wrong about Moxi  

2. iv) What makes Moxi useful. 

3. [Because the robot] has human-like features 

4. iii) Learning to use it can be a challenge to surgeons. 

5. [In lines 20-21, Dr. Stanton describes ways in which] the da Vinci robot helps 

doctors / her and her colleagues. 

6. [We can understand why] Japan leads in (the innovation of) building human-

like robots for people who need care at home. 

7. [in lines 27-30, Wallace gives several reasons why healthcare robots] 

should not be used. 

8. iii) will be used more frequently 

 


